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1A 77 91 168 52 201 | &7 ERED 392 415 807 307 36 |BHABEN 642 665 1,307 356
(0] 1) ( 1) (—TH) 3) NniC 4 (STH) 2 (2l C 4
pALUN = 375 387 762 296 202| &7 R D 664 723 1,387 583 N7 ABEE— 174 166 340 109
(0] C 5/ b5 (ZTH) 1) 0) | ( 1) (ETH) 0 olC o0
3| HTH 75 88 163 52 203 |& /7 AR 569 567 1,136 440 318 |BHABEEIN 0 0 0 0
(0|l oo/ 0 (ZTH) 1) 3 4 U\TH) 0 ( olC o0
4B 361 445 806 350 204 | & /7 FAbER 471 510 981 394 321 | HE— 99 92 191 56
(|l oo/ 0 (MTH) 2) 2 4 (—T H1~4%Hh) 0 olC o0
5— /B4 65 60 125 34 211 |k 409 428 837 332 322| X HE— 229 251 480 146
(0|l oo/ 0 (—TH) 0) 1) ( 1) (C T H AR 2 (2l C 4
6| —/F4 84 85 169 50 212 |kt 222 252 474 182 323 | HE— 684 681 1,365 403
(0] 1) | ( 1) (ZTH) 0) 0C 0 (=T H43) 2 (3| C 5
7= B4 166 168 334 120 213 |kt 283 256 539 191 324 | HEE 400 411 811 284
( 2« NniC 3 (=TH) 0) 0 C 0 (YT H1~173H) 0 olC o0
8|EFH 156 158 314 105 214 |k 366 377 743 305 325 | HEE — 669 703 1,372 412
(0] 1) | ( 1) (MTH) 0) 1) ( 1) (H T H43) 0/ C 0olC 0
9| gt H 53 43 96 26 221 | BT DOY—TH 586 621 1,207 431 326 | HE— 350 392 742 212
(0] 1) ( 1) 0) 1) ( 1) ST H1~17%H) 0 2/C 2
105 65 59 124 37 222 | BHITOY T H 700 688 1,388 507 327 | HEE = 884 922 1,806 523
(0|l oo/ 0 1) 2, 3 (ET H4) 0) | ( 1) ( 1)
11| K& 11 47 88 23 223|BHITDOY =T H 827 825 1,652 607 328 |k M = 225 233 458 159
(0|l oo/ 0 0) 1) ( 1) O\T H 43) 0 olC o0
12|45 5% 103 88 191 53 231|HEE—TH 626 643 1,269 447 329|pk M = 6 5 11 7
(0] 1) ( 1) 0) 0| C 0 (LT H 48%) 0 olC o0
13 K& 44 50 94 24 232|HEE-TH 795 845 1,640 579 331 | A HEE 5 19 24 24
(0|l oo/ 0 2) 3 C 95 (— T H5~8%Hh) 0 ( olC o0
14 A FH 85 85 170 45 233|HER=TH 366 379 745 263 334 | HEE = 458 452 910 341
(0|l oo/ 0 0) 1) ( 1) (U T H18~28%ih) 3 HlC D
15/8A 97 78 175 51 241 | BTG — 436 450 886 269 336 | HEE — 462 472 934 269
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (NT H18~35%i) 1) ( 0) | ( 1)
16| P& 1% 106 122 228 63 242 |1 T54E — 333 338 671 194 401| ERAA—TH 758 804 1,562 479
(0] 1) ( 1) 3) 2, ( 5 4 (. 4| C 8
20 [TE K fh 283 275 558 188 301 [ RAGEHE— 442 493 935 364 402 ERAARTTH 0 0 0 0
( 0) | ( 0) | ( 0) (—TH) 0) 0) | ( 0) 0) | ( 0) | ( 0)
101 | K74 328 358 686 260 302 RIAEEH— 416 459 875 353 411\ KiGAK—TH 715 734 1449 419
(—TH) ( 1) ( NniC 2 (ZTH) 1) 2) | 3 4 (3| D
102 | K74 261 277 538 199 303 AEE =T 538 597 1,135 444 412 KGR —TH 357 369 726 223
(ZTH) (0|l oo/ 0 1) 2, 3 NI C 0 ( 1)
111 Od&hE—TH 833 849 1,682 639 304 RAGE Y =— A 162 196 358 166
( 4) | ( 4) | ( 8) 0) 2) | ( 2)
M2/ 0&0WETH 465 454 919 370 M |\BFHABEE— 586 636 1,222 417
(0|l oo/ 0 (—TH) 0) 1) ( 1)
12117 —> bl 259 247 506 161 312\BHABE 469 517 986 317
(0|l oo/ 0 (ZTH) 0) 3 3
140/ L HDR 225 212 437 165 NI FAEE= 655 684 1,339 410
(—TH) ( 1) ( NniC 2 (=TH) 1) 2) | 3
141 | HOR 49 58 107 40 M4 BHABRE= 212 207 419 145
(—TH) (0|l oo/ C 0 (MTH) 2) 0C 2
142\ L H0R 350 364 714 263 5 HAREL 1,078 1,038 2,116 675
(ZTH) ( 2/ C 6 C 8 (WTH,LTH) 1) 0) | ( 1)
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